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Note: 1) Answer ail the questions. 15X1 =15

2) Choose the most suitable answer from the given four alternatives and write the option
code and the corresponding answer.
1.  Extraction of gold and silver involves leaching with cyanide ion. silver is later recovered by

a) Distillation b) Zone refining L) Displacement with zinc ) Hiquation
2. The element that does not show catenation among the following p - block ele ment. s
a) Carbon b) Silicon <€) Lead dyGemanium.
3. The metal used to prevent rusting of lron and steel is ' ; )
a) Au b) Zn c) Ag 4 d) Allofthese
4. The transition element which has only +3 oxidation state is ' : '
a) Ni __ .bB)Mn - c) Cr Yo dj 5¢
5.  IUPAC name of the complex K,[A{C,0,),] , |
i a) potassium trioxalato aluminium(11l) “shlpotassium tnoxalato aluminate(1l)
¢) potassium trisoxalato aluminate(Ill) . d) potassium trioxalato aluminate(111)

6. In a solid atom M occupies ccp lattice and | : | of. Iaetmbedral volds are occuples by atom N. find
the formula of solid formed by M and N.

a) MN b) M,N W NN d) M3N,
7.  1f 50% of a first order reaction is completedin 60'miriutes, 75% of the same reaction would
complete in Y
a) 90 min b)30min . ./ ¢€)120min d) 180 min
8. Which of the following flouro —.compounds is most likely to behave as a Lewis base?
a) BF, . by PF, | ®) CF, d) SiF,
9. - How many Faradays of eléctricity arg required for the following reaction to occur
MnO, — Mn* NEF b)3F c) IF d) 7F

10. On which of the following properties does the coagulating power of an ion depend?
a) Both magnittde and sign of the charge on the ion. b) size of the ion alone
c) the magnltude"-nf the charge on the ion alone »
d) the sign of charge‘on the ion alone.

11. Assertion ! Phenol is more acidic than ethanol.

Reason ! Phenoxide ion is resonance stabilized
--a).if both assertion and reason are true and reason is the correct explanation of assertion.

b) If both assertion and reason are true but reascn is not the correct explanation of assertion.
c)assertion is true but reason is false
d) both assertion and reason are false

12. But-2-ene on ozonolysis followed by subsequent cleavage with zinc and water gives

a) ethanal b) propanal ¢) propanone d) methapal »

Nt
s Strong heatin
! 5. NH, = .

13. The major product of the following reaction
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i4. Ina protein, various amino acids liked together by
¢) a = Glycosidic bond d) | — Glycosidic bond

15.

26.

27.
28.

29.

30.
31.
32,
33.

35.

37.

8) Peptide bond b) Dative bond
' pros CH,-C—CH =CH,

Which Is the monomer of neoprene in the following? a) . cl

CH,=C-CH =CH,

€)CH,=CH-CH=CH, d) |
CH,

b) CH,=CH-C = CH
SECTION - II
6. X2 12

Answer any six questions and question number 23 is compulsory,
Using Elingham diagram predict the conditions under which Magnesium could reduce alumina,

Why do d - block elements forms complexes?

[ Ti(H,0),)** is coloured, while [Sc(H,0),]" is colourless - explain.
Atoms X and Y form bicc crystalline structure. Atom X is present at the corners of the cube and

Y is at the centre of the cube. What Is the formula of the compound?

State Kohlraush's law, .
Peptising agent is added to convert precipitate into colloidal solution:-Explain with an example.

How will you convert glycerol inte acrelein?

Write short notes on Gomberg reaction.
Give the differences between primasy @and secondary structures of proteins.

SECTION - III
Answer any six questions and question number 29 is compulsory. 6x3=18
What is catenation? Describe briefly the catenation property of carbon.
Which is more stable? Fe’* or Fe?* - explain.

What are the limitations of VB theory?
What is an elementary reaction? Give the differences between order and molecularity of a reaction,

Can Fe** oxidises Bromide to bromine under standar conditions? Given

Eperpa,, = 0771V, Eey o = 1.00V.

Write a note on ultrafilteration.
How will you distinquish primary, secondary and tertiary alcohol by Victor Meyer's method?.

Identify A,B and C ethanoi¢ acid sk, BBSO, o dil NaOH C
What are bio degradable polymers? Give examples
SECTION -1V
Answer all the questions. 5x5=25
A) (1) What are the differences between minerals and ores? (2)
(il) Describe a method for refining nickel. (3) (OR)
B) (i) Write a note on Fisher tropsch synthesis. (2)
(ii) Write a shert note on hydroboration. (3)
A) (i) Give the uses of helium (2) (i) Give the balanced equation for the reaction between

chlorine with cold NaOH and hot NaOH. (3) (OR) J
B) Basedon VB theory explain why [Cr(NH,),}* Is paramagnetic, while [NI(CN) F is diamagnetic. (5)

A) Explain Schottky and Frenkel defect (5) (OR)
B) (i) What is common ion effect? (2) (ii) Derive an expression for Ostwald's dilution law. (3)
A) (i) Why does conductivity of a solution decreases on dilution of the solution? (2) (li) Derive
an expression for Nernst equation. (3) (OR)

B) (i) Give any two differences between a sol and a gel, (2) ‘

(i) Describe adsorption theory of catalysis. (3) .

A) Distinguish between primary, secondary and tertiary amines (any 5 differences)(5) (OR)

B) (i) How do antiseptics differ from disinfectant? (2)
(ii) Write a short notes on peptide bond. (3)

HMD 12 - Gafuusb (EM) uisi - 2
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| Choose the correct answer. 15X 1 =15
1. Which of the metal is extracted by Hall - Haroull Process?

Al b)Ni  ¢)Cu d) Zn

2. Which of the following is not sp’ hybridsed
a) Graphite b) graphene c) Fullerenc  d) Dryice

3. Match
oxoacids of phosphorous oxidation number of phosphorous
a) Ortho phosphorous acid i) +4 v I
b) Hypo phosphoric acid i) +5
¢) Hypo phosphorous acid iy +3
d) Pyro phosphoric acid i) +1
A B C D

a) (iii) (iv) (i) (if)
b) (iii) (i) (1v) (1)
e) (iv) (iii) (i) (if)
d) (iii) (ii) (iv) (i)
4. Assertion : Ce* is used as an oxidizing agen in Yolumelric analysis
Reason : Ce* has the tendency of attaining +8 oxidation state
a) Both assertion and reason are true and reason is the correct explanation of
assertion. ' '
b) Both assertion and reason aredrue but reasen is not the correct explanation of
assortions :
c) Assortion is true but roason is false d) Both assertion and reason are false
2. A magnetic moment of 1.73.BM will be Shown by one among the following

a) Ticl, b) [CoClJ* " &) [Cu(NH,),J* d) [Ni(CN).J*
6. The Vaccant space in fec lattice unit cell is
‘a) 48% b)Y 23% .. d)32% d) 26%

7. The rate constant of reaction is 5.8x10?S" the order of reaction is
a) First order b) Zero.order c¢) Second order d) Third order
P"valueof 0.01M HCl solution  a)10 b) 1 c)12 d)2
9. Laptops have
a) Lead storage battery b)Fuelcell ¢)Mercurybuttoncell d) Lithium-ion battery
10. Fogis colloidal solution of '
a)'Liquidin gas b) soiid in gas ¢) gas in liquid d) gas in gas
11, On reacting with neutral ferric chloride, Phenol gives
. a)redcolour B)violetcolour . d)dark green colour d) no colouration
12. Which one of the following undergoes cannizaro reaction
() CH, CHO (i) HCHO (iij) CCL,CHO  (iv) C,H,CHO
a) (i) & (i) b) (i) & (iv) c) (ii) (i) & (iv) d)All the above |
13. Which of the following reagent can be used to convert nitrobenzene to aniline
a) Sn/Hel b) Zn-Hg/NaOH c) Zn/NH cl d) All the above
14, If one strand of the DNA has the sequence 'ATGCTTGA' Then the sequence of
complementary strand would be:
a) TACGRAGT  b) TACGAACT  d) TCCGAACT  d) TACGTAC,

12" Chlml!tr]r 'Nmk- Fage_tl
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18. The Medicinal value of a drug is measured in terms of its
a) Deoxy ribose  b) Gold number ¢) Therapatic d) Eglilibrium constant

I Answer any 6 Questions,
Question Number 24 is compulsory 6x2=12

16. Write the difference between minerals and ores. .
17. Give the uses of Borax

18. Whatare interhalogen Compounds? given any two'éxamples
19. Define rate Law and rate constant
20. Frenkal defect - Define
21. Whatis electro phorosis?
22. Write the acrolein preparation
1 23, Whatis harmone? Given example

24. Whyis AC current used instead of DG in measuring the electrolytic conduction®

i Answer any 6 Questions, . :
Question Number 33 is compulsory 6x3 =13

25. Explain Froath - Floation method

26. How will you identify borate redical?

27. Write the following for the complex [Pt (Na,) (H,0) (NH.),] Br

1) Central metal iorn 2) ligands 3) oxidation Aumber 4) Co-ordination entity
5) Co-ordination number 6) IUPAC Name : :

28. Derive integrated rate law for first order reaction?
29. Explain common iorn effect? Given example y
30. Write a short notes on kinetic property of colloids
31. Give three difference between DNA and RNA
32, Explain the reducing property of formic agid %,
33. Write the two isoners with the formula CH; NO, Howv wilf you distinguish between them?

IV  Answer ali the fnilowing 5x5=25

o

34. a) (i) Explain the Mond's process of refining Nickel (2mark)
(if) Write the uses of silicories {or) : , (3mark)
b) (i) Write the difference between lanthanoids and actinoids (3mark)

(i) Sulphuric acid is best dehydrating agent prove that ,
35. a) (i) Write the postulates of werfier's theory (or) _ (Smark)
b) (i) What is unit cell (2mark)

(i) barium has a body centered cubic uriit cell with a length of 508pmalong  (3mark)
edge. what is density of barium in g cm?

38. a) (i) Derive an.expressionfor ostwald's dilution l?w {3mark)
() Diffentiate hamegeneous catalyst and hete ogeneocus catalyst (or) ~ (2mark)
. b) (i) Write:a short note on sacrificial protection ' (3mark)

AIf) Explain mercury - button storage battery (2mark)
37..a) (i) Write short note on: a)Gabrial phthalimide Synethesis b) coupling reaction
e} carbylamine reaction ' ; : (3mark)
(i) Differentiate primary, secondary and tertiary amine ( any four points) (or)  (2Zmark)
B (i), How will you prepare nylon 6,6 and dacron '
(i) Structure of glucose (2mark)
38. a) (i) What are food preservatives? (3mark)
(If) Write short notes on cleansing action of Soap (or)
b) Identify A, B, C, Dand E in the following sequance of reactions

Con HMe,

Con M Sn/Hel NaNo Hel
. CHCI | ConMsd, o Sn/He ¢ J DCUGN -
[ % - anhydrous .

" Alel
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Time Allowed:3.00 Hours CHEMISTRY
PART-I Saan
I Answer all the questions. ) 15x1=
m the given four alternatives:

Choose the most suitable answer fro
sed for the refining of

1. Cupellation Is a process u
a) Silver b) Lead c) Copper d) Iron
5. ‘Which of the following is used as moderator In nuclear reactors?
a) Ecm b) ?le c) 531:1 d) st
3. Structure of XeOF,
a) linear b) square planar
c) square pyramidal d) pyramidal
4. Colourof UQ> ion is:
a) Red ; b) Green c) Yellow d) Blue
5. \What is the oxidation state of Fe in [FeF J"
a)y +4 b) 43, c) +2 d) 0
& The ratio of.close packed atoms to tetrahedral holedn cubic packing is
- a) 1:1 bH)'1:2 c)2:1 d) 1:4
< After 2 hours a radioactive element becomes (1/16) of ofiginal amount then the
half life is ;
a) e0min b) 120 min c) 30 min d) 15 min
8. pH of seawater is 3
a) 12 b) 8 O S d) 2
9. Which of the following metal is used as sacrificial anode?
a) Ni b) Fe c)Wi d) Mg

10. Fog is colloidal solution of
a) solidin gas b) gas'in@as c) liquidingas d) gas in liquid
11. HO - CH, - CH, - OH on heating with periodic acid gives
a) Methanoic acid b) Glyoxal c) Methanal d) CO,
Which of the following is used in the manufacture of thermosoftening plastic

12,

Perspex?

a) Acetaldehyde b) Acetone ¢) Formaldehyde d) Propanone
13. Which one'ef the following is known as pil-of mirbane?

a) Benzene b) Nitro benzene c) Toluene d) Nitro aniline
14. Nucleoside % Phosphate — 7

a) Deoxy ribose sugar b) Nucleotide

¢) Nucleic acid d) Furanose
15/ Which one of the following is Antihistamines?

a) Cetirizine b) Ranitidine c) Isoflurane d) Ampicillin

» PART - 11
11 Answer any six questions. Question Number 20 is compulsory. 6x2=12

16, Give the limitations of Ellingam diagram.
17. What are in_l:erhaingen compounds? Give examples.
*;g EREE is zelgtlar-Natta Catalyst? Write the chemical reaction where it is used
; at are elementary reactions? Give the differences bet :
molecularity of a reaction. stween order and
20. Calculate the extent of hydrolysis and the pH of 0.1 M i
that K. = K= 1.8% Ay o] ! ammonium acetate. Given
21. State kohlraush law.
22. What is Electro osmosis?
23, Explain the kolbe’s reaction.
24, Differentiate thermoplastic and thermosetting plastic.

www waytosuccess or
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III Answer any six questions, Question Number 31 is compulsory.
25. Explain the principle of electrolytic refining with an example.
26. Complete the following reaction.

i) XeF,+H,0 —

if) KClo, —2
i) AgNO, + PH, —
27. Explain why Cr'* is strongly reducing, while Mn®* is strongly oxidizing? :
28. Draw the figure to show the splitting of d-orbitals in an octahedral Crystal field:
29. Distinguish hexagonal close packing and cubic close packing. :
30. Explain the common ion effect with an example. ,
31. Acopper electrode is dipped in 0.1m Copper Sulphate solution at 25°C. Calculate
the electrode potential of copper. [Given : E°Cu?*/Cu = 0.34V],

6x3=18

32. How will you prepare the following. .
i) Benzaidehyde — Cinnamic acid Sivekrm 'ﬁ’ﬁ- Nl ) e
if) Benzaidehyde — benzal aniline 3w R omn Mates

i) Benzaldehyde — Malachite green dye ! &y
Vallpsw-b 2 799 .

33. Explain the peptide linkage. j :
- PART - IV Mo 5T ;5#;)(5_25

Answer all the questions. 1
34. a) How the gold ore is concentrated by cyanide Leaching? (2)

b) Give the uses of silicones, (3)

(OR)
) How Cl, is prepared in the laboratorty? (2)
~d) Write the reason for the anamelous behavislur of Nitrogen. (3)
35, a) Differentiate Lanthanoids and actinoids.
b) Explain chromyl chioride test.
pane e (ORS
€) An element has bec/structure with the cell edge of 288pm. The density of
the element is 7.2 gcrir®. How many atoms are present in 208g of the element? (3)
d) Write the following of the comiplex [Cr(PPh,)(CO).] central metal atom, ligand,
: co-ordination number and IUPAC name.
36. a) Write short niotes on Mercury button cell. (3)
. b) Write a note on Satrificial protection. (2)
e (OR)
c) Distinguish between chemical and Physical absorption. (3)
d) Give any'2 uses of emulsion. (2)
37, a) Explain how to differentiate ethanol, propan-2-al, 2-methyl, propan-2-ol by
Victor-meyer's test. (3)
b) ExplainSwern oxidation. (2)
Y (OR)
“.€) How will you prepare primary amine by Gabriel phthalimide synthesis. (2)
. d)' Complete the following reactions:
i) CHNO, __sute , ?
i) CHNO, __zma 7
i) CH,NO, —_Znmaon ,
38. a) Explain the Methanism of Aldol condensation reaction. (3)
b) Give any 2 test to identify the aldehydes. (2)
(OR)

€) Write a note on denaturation of proteins. (3)
d) What are hormones? Give examples. (2)

-
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HSL
XII -su CHEMISTRY |
Time : 3,00 | lrs - _ ) Marks: 70
PART- | '-
_ Answer all the question: 15a=15

10,
1.

12,
13
14

15.

Choase the most approprinte Answer.
Considering Ellingham diagram which of the following metal can be used to reduce alumina?

a)Fe b) Cu Mg d)in

The basic structural unit of silicaies s

a) (50, b) (IO} ¢) (sio) d) (Sio )"

PO, reacts with cold water to give |

a) H,PO, . B)HPO, ¢) HPO, d)H,PO,

The magnetic moment of Mn™ ion is ' "
a)5.91aM b) 2.80BM ¢) 8.958M d)3.908M
Fac-Mer Isomerism is shown by |

3) [CO(en) 1™ b)[CO(NH), (C),)* €] [CO(NH) (CA,] d) [CO (NH,), T/} 5O,
The vacant space in BCC lattice unil ¢l is

a) 48% b)23% c)3 % .. d) 26%

The rate constant of n reaction is 5.8 1038 1.

a) First order b) Zero order ¢) Second order d) Thind oeder
The P*of 10-3 KOH solution will be

29 b)5 g9 d) none of these
Which of the following electrolytc solution has the least specific conduciance

a) 2N b) 0.002N : ¢) 0.02N d) 02N

Fog is a colloidal salution of ' '

a) Solid in gas b) gas in gas ¢) liquid in gas d) gas In liquid
Carbolic acid is )

a) Phenol b) Picric acid ¢) Benzoic acid d) Phenyl scelic acid
Which oneof the following reduccs the Tollen's reagent

a) Formic aeid b) Acetic acid

¢) Benzophenone d) nome of these

The peaduct formed by the reaction in aldehyde with primary amine

#) Carboxylic scid b) Aromatic acid

¢) Schiff base d) Ketone

Which of the following vitamin is water soluble.

a) Vilamine-E b) Vitamine-K

¢) Vitumine-B d) Vitamine-A

Nylon is an example of :

&) polysmide b)polythene c) poleyster d) poly saccaride

MNSL EM 12 Ooyfuliss usacs -1
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PART -2
Note: (i) Answ er nny six question. (i) Answer question No.24 is compulsory :- bal=]2
16.  Give the basic requirements for vapour phase refining?
What is inert pair efTect?
What is crystal field stabilisation energy?
What arc point defects?
What is common ion effect?
What is the diffcrence between a sol and gel.
Write Kolbe's reaction
What are antibsotics?
Distinguish Nitro and Aciforms,

sEBEBEES=S

PART -3

Nate: (I) Answer any six only :- (i) Answer the question No.33 is compalsary =
25, Writc a note on Fisher - Tropsch synthesis. | 6x3=18
26, What are transition metals ? Give example |
27.  Differenciate crystalline solids and amorphous solids.
28.  What are bufTer solutions. Give example,
29.  Differenciate orcs and minerals,
0. Write Arrhenius Equation and explain.
31, What is Urotrophine? How it is prepared. Write I.'lll.'- structure,
32.  What are redusing and non- reducing sugar.
R .

PART- 4

Answer all the question. J S5x5=25
3. (a) Explain Zooe refining piocess, (OR)

(b) Whast is lanthanide contraction. ‘What are the effects of lanthanide contraction,
35.  (a) Write the postulats of Werner's co ordination Theory? (OR)

(b) (i) Write coupling reaction. (ii) Write any one test to distinguish 1%, 27 and 3% alcohols.
36.  (a) Explain stoichiometric defects in onic solids. (OR)

(b) (i) Statc Kohlraasch law?

(i) Derbve an expression for Nemst equation.

37. 7 {u) Explain intermediaie compound formation theory of catalysis. (OR)

(b) Write the difference between DNA and RNA.
38. () Explain the reaction Mechanism of Cannizaro reaction. (OR)

(b) ldentify A 1o E in the following sequence of reaclion.

cHCI Mu'ﬂ'? p'HCI
@ iAo, s, | (B) | sniha© DCUCNE,

HSL EM w2 Wuuirf

31, CAL,0H Zn st A
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SECTION - I -
Note: 1) Answer all the questions. 15 X1 =15

2) Choose the most suitable answer from the given four altarnatives and write the option
code and the corresponding answer.

1.  Extraction of gold and silver involves leaching with cyanide ion, silver is later recovered by

a) Distllation b) Zone refining c) Displacement with zinc d) liguation
2.  The element that does not show catenation among the following p - block elementiis
a) Carbon b) Silicon c) Lead d) Germanium
3. The metal used to prevent rusting of Iron and steel Is =5,
a) Au b) Zn c) Ag d) All of th_esg
4, The transition element which has only +3 oxidation state is A %
a) Ni b) Mn c) Cr d) Sg
S.  IUPAC name of the complex K,[Al(C,0,),] :
a) potassiumtrioxalatoaluminium{III) b) potassiumtrioxalatoaluminate(Il)
¢) potassiumtrisoxalatoaluminate(III) ) d) petassiumtripxalatoaluminate( )

6. In a solid atom M occupies ccp lattice and %J of tetrahedral volds are occupies by atom N. find
the formula of solid formmed by M and N. y g
a) MN b) M,N s CJMIN, d) M3N,

7.  1f 50% of a first order reaction is campleted in &0 minutes, 75% of the same reaction would
complete in .
a) 80 min b) 30 min o ¢) 120 min d) 180 min
8.  Which of the following flouro - compounds is mest likely to behave as a Lewis base?
a) BF, b) PF, =y, C) CF, ™ d) SiF,
9. How many faradays of electﬁcll:y ar@ required for the following reaction to occur
MnO, — Mn** a) SF . . b)3F c) IF d)7F

10. On which of the fnllnwhg properties does the coagulating power of an ion depend?
a) Both magnitude and sign af the charge on the ion. b) size of the ion alone
c) the mgnitl,;de of the charge on the ion alone
d) the sign of c‘bargl! on the ion alone.
11. Assertion : Flml is more acidic than ethanol.
. Phenoﬂde ion is resonance stabilized
a) if b ﬁm" and reason are true and reason Is the correct explanation of assertion.

b).if both assertion and reason are true but reason is not the correct explanation of assertion.
4. ion Is true but reason is false

%9:. assertion and reason are false
ﬁm -2-ene on ozonolysis followed by subsequent cleavage with zinc and water gives

a I b) propanal c) propanone d) methanal
13. The major product of the following reaction (Z“

O o OO E0

i

-
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14, Ina pn:rtein, various amino aclds liked together by
a) Peptide bond b} Dative bond c) a - Glycosidic bond d) p - Glycosidic band

CH,-C~-CH =CH,

15. Which Is the monomer of neoprene in the following? a) C

CH,=C~-CH =CH,

b) CH,=CH-=CH c) CHI =CH-CH= CH, d) CH.
SECTION-II
Answer any six questions and question number 23 s compulsory. 0A2=J42

16. Using Elingham diagram predict the conditions under which Magnesium could retuce aluminas
17. Why do d - block elements forms complexes?
18. [Ti{H,0))" is coloured, while [Sc(H,0),J* is colourless - explain.
19. Atoms X and Y form bec crystalline structure. Atomn X is present at the ‘Corgers pftfié cube anc
Y is at the centre of the cube. What is the formula of the compound?
20. State Kohlraush's law, ;
21, Peptising agent is added to convert precipitate into colloidal solution. Explainwith an example.
22. How will you convert glycerol into acrolein?
23. Write short notes on Gomberg reaction.
24. Give the differences between primary and secondary striictures of proteins.
SECTION - III
Answer any six questions and question number 29 is compuisory. 6x3=18
25. What is catenation? Describe briefly the catenation property of carbon.
26~ Which is more stable? Fe3+ or Fe2+ - explain. -
~ What are the limitations of VB theory? .
28. What is an elementary reaction? Give the differences between order and molecularity of a reaction.
9. Can Fe3+ oxidises Bromide to bromine under standar conditions? Given E°Fe, |Fe, = 0.771V
Eo Br,|Br- = 1.09 V. ;
30. Write a note on ultrafilteration.
31. How will you distinquish primary, secondary and tertiary alcohol by victor meyer’'s method?

32. Identify A,B and C ethanoic acid sock . PaBsSO. o dil NaOHC
33. What are bio degradable polymers? Give examples

- SECTION -D
Answer all the questions, S5x5=25
34. A) (I) What are the differences between minerals and ores? (2)
(ii) Describe a method for refining nickel. (3) (OR)
B) (i) Write a note on Fisher tropsch synthesis. (2)
(i) Write a short note on hydroboration. (3)
35. A)l) Give the Uses of helium (2) (ii) Give the balanced equation for the reaction between
chlorine with cold NaOH and hot NaOH. (3) (OR)
Bi-ﬂzﬂﬁﬂd on VB theory explain why [Cr(NH,I" is paramag netic, while INEI:_C'EI }_f- is diamagnetic. (5)
. A) Explain Schottky and Frenkel defect (5) (OR)
2 :"E;;fyq':hat is common lon effect? (2) {[IIJ Derlve an expression for Ostwald’'s dilutlan“!aw. (3)
37. A) (1) Why does conductivity of a solution decreases on dilution of the solution? (2) (ii) Derive
an expression for Nernst equation. (3) (OR)
B) (i) Give any two differences between a sol and a gel. (2)
(i1) ribe adsorption theory of catalysis. (3)
38. Distinquish between primary, secondary and tertiary amines (any 5 differences)(5)
(OR) B) (i) How do antiseptics differ from disinfectant? (2)
(il) Write a short notes on peptide bond. (3)
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!‘WAY TO SUCCESS
CUDDALOEE

A C wddalove — Pt
COMMON HALF YEARLY EXAMINATION . 2022

Standard - Xl R
PART - I Marks: 79
L Choose and write the correct answer:
15%1=15

1. The incorrect statement among the following in
a) Nickel in refined by Mond’s process
b) Titanium Is refined by Van - Arkel process
EJ} Zinc blende In concentrated by froth floatation
In the metallurgy of gold, the metal is reached with 1
2 1In organic benzene is dilute sodium chiaride salition .

a) borax b) borazole ric a

3. Which one of the following attack glas;?] porie acd ©) diborage g
a) HF b) HCI c) HBr d) HI &

4 Which one has maximum number of unpaired electrons? -
a) d? b) d° c) d? d) g0

5 TI}'IT Geometry of dsp? hybridisation Is
a) limar b) square planar c) trigonal bi

6 The Crystals which a]re qgnud gonducmrs}nf heat andpggig:glﬂ are L
a) Molecular crystals b) lonic Crystals

c) metallic Crystals d) all of these
7. Ea of a reaction is zero the value of rate constantun
a)o b) A c) Fa d) Ea/

8. lonic product > K, the solution Is
a) Saturated b) UnSaturated c) Super Saturated d) equilibrium

9 Which one of the following Statement in Correct?
a) Oxidation occurs at cathode b) Reduction Occurs at anode
c) Electrons migrate from_anode to tathode '
d) Electrons migrate from Cathode to anode

10 Which one of the following Is correctly matched?
a) Emulsion - smoke b).Gel - butter ¢) Foam - Mist d) Whipped Cream - Sol

11 Which of the following compotnd can be used as anti freeze in automobile radiators?
a) Methanol b) Ethanol c) Neo Pentyl alchol d) ethane - 1,2 diol
12 The acid which reduces Tollens reagent In
a) benzoic acid  b) Salicyclic acid  ¢) acetic acid

13. Which'is.called oil of mirbane?
a) Nitromethane D) Aniline c0 Methyl sulicylate d) Nitro benzene

14 The aumber of SPZ and Sp” hybridised carbon In glucose are respectively

d) formic acid

a) Landd b) 4 and'2 c)S5and 1 d) 1 and 5
15 The polymer use in making blankets (artificial wool) 15
a) PAN b) Orlon c) PET d) both aandb
-11
PART 6x2=12

19 is compulsory)

trated by froth flotation method? Give [wo

IL Answer any six questions. (Q.no.
16. Which type of ores can be concen

examples for such ones
17. Write the properties of interhalogen compounds (any four)

18. Explain Coordination isomernsm with an example

tosuccess. ﬁ
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a XIl - CHEMISTRY
19 The rate constant of first order reaction Is 1 %4 x 10°'S ! Find ity haif iife period
20. What are the various process to prevent corrosion?

21 Write the tests for phenol
22 What are called epimers? Give two examples?

23 Explain Popolf's rule
24. How Is nylon 66 prepared?

PART - 111
[11. Answaer any six questions, ( Q.No.31 Is compulsory):

6x3=1p

25. Write the uses of silicones
26. [TI(H,0)¢]* " Is coloured Where as [SC(H,0) o]*? s colorless - Why?
27. Write a note on Frenkel defect
28. Derive the relationship between PH and POH
29. What are called Catalytic poisons? Give two examples
30 How do you prepare the following ©  a) Picric acid b) TNG
31. CH, COCI + H, Ea?o'_ _NaOH B A, C Identify A, and C.
32 What are the dll’farenc:ea between Hormones and vitamins?
33 Give one example for

a) tranquiliser b) antihistamin c) artificial Sweetening agent

PART -1V

IV. Answer all the Questions. 5x5=25
34. a) Explain electromagnetic separatian (3) .

b) Define gangue and slag (1+1) (OR)

a) Write the uses of borax. : (2)

b) Write the action of dil and"conc. NaOH on Cl, (3)
35. a) Trnasition metals form complexes - Why? (2)

b) Compare the properties of lanthanolds and actinoids  (3) (OR)

Using VB theory explain the following: a) [N {:Nh]} b) [FE(CN)E]}

36. a) Calculate the humber of atoms per unit cell In BCC.  (2) gt
b) What are called molecular crystals? Give example. (3) (Cgﬁ}
a) Derive integrated rate law for zero order reaction. (3)

b) Whatare the various methods used for coagulation? (2)
37. How is the following prepared from Phenol?

a) Phenolphthalein b) Salicylic acid ¢) benzene

a) Discussthe mechanism of Cannizaro’s reaction.

D) wéite Trans esterification

(2+2+1) (OR)

38 a)\ 1) con HNOD, STk A (3+2)
Identify A and B 473k *B
b) What is Libermann nitroso test? (2+3) (OR)

a) Give any six differences between DNA and RNA.
b) What are called antacids? Give an example.
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